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INSTRUCTIONS
Candidates are advised to read the instructions given in the cover pages of Qestion Booklet and
in the OMR Sheet very carefully.
There is ‘cool off time’ of 15 minutes in adition to the writing time of 11/2 hrs. Time 9.30am to
11.30am
You are not allowed either to write the answer or to discuss anything with others during the “cool
off time”.
Use the ‘cool off time’ to get familiar with question and to plan your answers.
In paper II there are 55 questions. Amoung these answer 45 questions. Part A English15
questions- answer all questions.Part B Basic Science — 20 questions- answer any 15
questions, Part C — Social science — 20 questions answer any 15 questions
There will be no negative marks
For answering questions, candidates are advised to follow instructions strictly given in the
question paper and on theOMR Sheet
Fill in all entries on the top part of the OMR sheet before beginning to answer questions.
Use only Blue/Black Ball point Pen for answering questions on OMR answer sheet.
No, identification mark, other than where asked for, OMR answer sheet, is permitted. If done so,
the OMR answer sheet is liable to be treated as cancelled.
Don’t use back side of OMR answer sheet for rough work. For rough work use only the pages
marked as rough work in the question paper booklet.
The candidate must return the answer sheet (OMR) to the invigilator before leaving the
examination  centre.
If you darken more than one circle, your answer will be treated wrong.
Cutting or overwritting in any box provided for answering question will be deemed to be an
incorrect answer.
Don’t rub,erase,cut,fold or overwrite on the OMR answer sheet.
Pen marking once made is final.
Use of white fluid or any other correction fluid to erase the pen marking once made is not
permitted
In case of improper bubling/erasing/whitening etc. the reading of the OMR machine will be
taken as final and any arguments to defend which action will not be entertained.
Since the sheet will be processed by a machine, write and mark the circles in the appropriate
space only.

Signature of Candidate Signature of the Invigilator
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PAPER 1
PART C- MATHS

A person receives 10 rupee note and 20 rupee note in exchange of a 1000
rupee note. If he received a total number of 75 notes. how many 10 rupee
notes are there?

A) 90 B) 40 c) 50 D) None of these

If 3/4 th of a vessel is filled by 3/5 Litre of water, then how many litre
of water is required to completely fill the vessel

A) ¥ B 4/5 C) % D) 2/5

If 9times the digit in the tens place of a two digit number is substracted
from the number gives 4. What is the sum of the digits?

A) 2 B 3 C) 4 D) 5
In a library 60% of total books are in English. Among the remainig

books 50% are in malayalam. The remaining 750 books in Hindi. What
is the total number of books in library?

A)1500 B) 3750 C) 7500 D) 10000
If 79 2 = 6241 then what is /62.41 +J0.6241+J0.006241
A) 80.869 B) 8.769 C) 8.6979 D) 86.979

In the figure above, the mid point of each sides of the square of
perimeter 32 cm are joined to form a quadrilateral, find the area of the
shaded quadrilateral

A) 18cm? B) 16 cm? C) 32cm? D) 64cm?
If 1st jan 2024 is a monday. then what day will be 1sc March 20247
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A) Friday = B) Saturday C) Sunday D) Monday

If a, at+2, a+4 are consecutive prime numbers, find the value of a

A)2 B) 7 C)5 D) 3
Which of the following is the largest?
A) 5/6 B) 10/11 C) 8/9 D) 11/12

A car travels a distance of 360 k.m in 5 hrs. If a train of 200 meter length
travels with the same speed. How much time does it take to cross a 100
m. long bridge?

A) 40 Sec. B) 15 Sec.

C) 46 Sec. D) 18 Sec.

If the sun rises at 6 am one morning .How much degree will it attain at
10 am in that morning?

A) 90 B) 60 C) 45 D) 30

110° 135°

Find out the value of x? -

A) 25° B) 155° C) 45° D)65°

If you get 3 pens as free , when you buy 17 pens, find the discount
percentage ?

A) 15% B) 30% C) 17% D) 25%

If the angles of a triangle are in the ratio 1:4:5, what is the difference
between the largest and smallest angle?
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A) 32° B) 60° C)65° D) 72°

Which of the following is most likely to be a perfect square?
A) 1552506 B) 1313326  C) 1473776 D) 157753 6

How much more is the sum of first 100 even numbers than the sum of
first 100 odd numbers?

A) 50 B) 100 C) 200 D) 800

A square having 9 number is marked on a calender. The sum of the
number is 117. Find the number at the center of the square

A) 12 B) 13 C) 14 D) 15
(42x8.4)+(4.2x1.6)
(2.1x4.2) + (2.1x5.80 Find the Value
A) 1 B) 3 C) 2 D) 4
A
10 cm )
B C

3cm

5
The Fig. ABC is a right angirend triangle.Find the area of the shaded
portion

A) 80cm? B) 30cm? C) 50 cm?D) 15cm?

If A &B required 10 and 15 days respectively to complete a work . Then
how many days will they take together to complete the work ?

A) 6 B) 4 C) 5 D) 8
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